U4 Day 10 SEQ SER Applications HW -KEY

Solve each problem involving arithmetic/geometric sequences or series.
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The first year a toy manufacturer introduces a new toy, its sales total $495,000. The company expects its sales to
drop 10% cach succeeding year, Geo. =9 Qn= 4“soco ()"
A, Find the year sales in year 6. B. Find the total expected sales in the first 6 years.

4asoco ()" $292,29a. 55 =39 £23/936%.0S;

t=,
When a pendulum swings freely, the length of its arc decreases geometrically, If the 8% arc is 20 in. and the 10"
arc is 18.5 in., find the length of the 15" arc by writin%n tbx;rltiﬂa for the length of the pendulum swi

2, 19,5 = a 20=0,( 1o
= \ .23 (.au) _
A bookshelf has 7 shelves of different widths. Each shelf is narrower than the shelf below it, The bottom three

shelves are 36 in., 31 in., and 26 in. wide, -5 (\'\"’D - U\-sn
A. The shelf widths decrease by the same gmaunt from bottom to top. What is the width of the top shel?
Blo-s(F-1)= m
B. What is the total shelf spac 1 s;cvcn shelves? C. Use summation notation to represent part B.
E(3o+o)= 4+ = (-0
A seashell has chamrl)ers that are cach 0.82 times the length of the enclosing chamber, The outer chamber is 32
mm around. Find ihf total leng shell's spiraled chambers if there are 100 chambers? 300 chambers?

32 (1-.82%°) . F+ (_%g’chmc\w.h l’r*z%.) w\fhsmm%.ou
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An embroidery pattern calls for five stitches in the first row and for three more stitches in each successive row.

The 25th row, which is the last row, has 77 stitches. Find the tatal number of stitches in the pattern. Poroth Sum—
S=B@ton) 2 25(54+77)= Jl0BS

In a sequence, the first term is 8 and the 2™ term is 12. Find the 10" term if the sequence is:
0,23 a4 gz F+4(n-1) OB r='Hg=15
A. Arithmetic B, Geometric

$4900-D= ) 380.sY =20 . S

Mark has saved $370 for a scooter and continues to save his weekly allowance of $10.

fecn. 8 yerm ’ o

A. Find the amount Mark wi]“mve snv{éﬂﬁer Tweeks. D TOTF-10 T ‘-\"{O
oF 4ty 118 8RO

B. If the scooter costs $520, how many weeks will Mark have to save his allowance?

S20= 370+ 10X = Ea \S uo]CA.))

Beth deposits $1500 into a retirement accou.ngtcihal. pays an annual interest of 8%. Assuming Beth makes no
withdrawals or deposits, | S00 (1.c®)" &v UEQ'LDC\‘O%) n-y
amPopfryrl

A. How much money will she have in her account after 20 years? |SDO (_\ .Qﬂiwr- i $ l_gotcﬂ\. U‘L\ ’

B. What is the first full year that she will have ten times the amount she started with?

|5,000= [S00(LOE)® & leglof| 8= 29! | \
O lig -/_5‘3 B /1.5\ 2992y — |20 eS|

A side of an apartment building is shaped like a steep staircase. The windows are arranged in columns. The first
column has 2 windows, the next has 4, then 6, and so on, How many windows are on the side of the apartment
building i it has 15 columns? S k= d=A n=\S

K (aaralis-l) - @

N 200+ Aln-1Y)
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Non Application Problems: J
|

10. The first term of an arithmetic series is 123. The common dl[’ferencc is 12 and the sum7098 How many terms are
in the series? Q= & (Q_&l -+ d(h-ﬁ) - 7098= (24(9 +\2.(n- 33
= 9 (224 +1n) =008 = 15N +ln™

0r 0= ten® J078
11, Evaluate the series: 2‘(10—5:1] L+7.547406.S+.. @
n=4 ]
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